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Chapter 4 Solutions

v = (1502 + 30.091/2 =153 km/h

north of west

For Alan, his speed downstream is ¢ + v, while his speed upstream is ¢ — v. Therefore, the total

time for Alan is

P A S N T
1=yt T 1o

For Beth, her cross-stream speed (both ways) is V¢? - v?

Thus, the total time for Beth is

2L 2L/c

V-2 |N1-2/c

=

2
. v . .
Since 1- 2 < 1, t >t or Beth, who swims cross-stream, returns first.

a = Heading with respect to the shore
= Angle of boat with respect to the shore

(a) The boat should always steer for the child at heading
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